
Sr No. MCom Business Finance
1 Choose the missing term out of the given options:

___aa__ba__bb__ab__aab
Alt1 aaabb
Alt2 babab
Alt3 bbaab
Alt4 bbbaa

2 Choose word from the given options which bears the same relationship to the third word, as the first two bears:
Hour : Second :: Tertiary : ?

Alt1 Intermediary
Alt2 Primary
Alt3 Ordinary
Alt4 Secondary

3 Select the lettered pair that has the same relationship as the original pair of words:
Stickler :Insist

Alt1 Laggard: Outlast
Alt2 Braggart: Boast
Alt3 Haggler: Concede
Alt4 Trickster: Risk

4 Select the lettered pair that has the same relationship as the original pair of words:
Necromancy : Ghosts

Alt1 Romance: Stories
Alt2 Magie: Amulets
Alt3 Alchemy: Gold
Alt4 Sorcery: Spirits

5 Find out the number that has the same relationship as the numbers of the given pair:
 MAD: JXA: RUN: ?

Alt1 ORK
Alt2 OSQ
Alt3 PRJ
Alt4 UXQ

6 Spot the defective segment from the following:
Alt1 Keep the miscreants 
Alt2 at your arm’s length 
Alt3 for
Alt4 they will pull the wool over your eyes 

7 The terrorists held the tourists ---------- for ransom.
Alt1 as hostages   
Alt2 hostages
Alt3 hostage  



Alt4 captives

8 If I ------- wealthy, I would have got many friends.
Alt1 had been     
Alt2 were   
Alt3 was    
Alt4 am 

9 Choose the option closest in meaning to the given word:    
NEOLOGISM

Alt1 inoculation
Alt2 coinage
Alt3 consistency
Alt4 mirth

10 Choose the antonymous option you consider the best: 
SUAVE

Alt1 crestfallen
Alt2 polite
Alt3 rough
Alt4 cherished

11    In a certain code, REFRIGERATOR is coded as ROTAREGIRFER. Which wordwould be coded as NOITINUMMA ?

Alt1 ANMOMIUTNI 
Alt2 AMNTOMUIIN
Alt3 AMMUNITION
Alt4 NMMUNITIOA 

12 Traffic : Road  in the same way as
Alt1 Aeroplane : Aerodrome
Alt2 Blood : Veins
Alt3 Roots : Tree                          
Alt4 Car : Garage

13 The following information is given: One of M.Gopi, his wife, their son and Mr.Gopi’s mother is an architect and 
another is a doctor. 
(i) If the doctor is younger than the architect, then the doctor and the architect are not blood relatives.
(ii) If the doctor is a woman, then the doctor and the architect are blood relatives.
(iii) If the architect is a man, then the doctor is a man.
Whose occupation is known by this information?

Alt1  Mr. Gopi is the doctor   
Alt2     Mr. Gopi’s son is the architect
Alt3    Mrs. Gopi is the doctor
Alt4    Mr. Gopi’s mother is the doctor



14 Gopal was ranked  5th from the top and 16th from the bottom in a test. How many students were there in his 
class

Alt1 19
Alt2 21
Alt3 22
Alt4 20

15 Median of 10o, 5o, -2o, -1o, -5o, 15o is

Alt1
-2o

Alt2
-1o

Alt3 2o

Alt4
3o

16 Which of the following is 'OXYMORON'?
Alt1 Found Missing 
Alt2 TIT-TAT
Alt3 GOTO
Alt4 Misunderstood

17 There are 5 persons in a class. Each one is shaking hand with the other. Find the total number of hand shakes?

Alt1 5
Alt2 10
Alt3 20
Alt4 60

18 Of the 26 Capital letters, how many are symmetrical along with vertical and horizontal axes.
Alt1 4
Alt2 3
Alt3 6
Alt4 5

19 There are 30 boys and 60 girls in a village . There are 70 men and 40 women in that village. What is the 
percentage of boys in that village?

Alt1 0.1
Alt2 0.25
Alt3 0.2
Alt4 0.15

20 There are N students in a class and only 8 of them are girls. If 11 boys added to the class,how many students in 
the class are boys?

Alt1 N+3
Alt2 N-3
Alt3 N-19



Alt4 19

21 A large amount spent on special advertisement is–
Alt1 Capital Expenditure 
Alt2 Revenue Expenditure
Alt3 Revenue Loss 
Alt4 Deferred Revenue Expenditure

22 According to going concern concept a business entity is assumed to have–
Alt1 A long life 
Alt2 A small life
Alt3 A very short life 
Alt4 A definite life

23 What does management audit imply ?
Alt1 Complete audit 
Alt2 Detailed audit
Alt3 Efficiency audit 
Alt4 Interim audit

24 The liability of the shareholders of a public limited company is limited to the extent of–
Alt1 Par value of the share 
Alt2 Paid up value of the shares
Alt3 Market price of the shares 
Alt4 Intrinsic value of the shares

25 Share premium account can be used for–
Alt1 Paying tax liability
Alt2 Meeting the cost of issue of shares or debentures
Alt3 Paying Dividend on shares
Alt4 Meeting the loss on sale of old asset

26 In common size Balance Sheet analysis we evaluate–
Alt1 Increase or decrease over two years is analysed
Alt2 Only increase over two years is analysed
Alt3 Only decrease over two years is analysed
Alt4 All assets and liabilities are expressed in terms of percentage of total

27 Increase in fixed asset due to purchase is–
Alt1 Source of fund 
Alt2 Fund from operation
Alt3 Use of fund 
Alt4 None of the above

28 The Branch of Accounting which is concerned with the processing and presenting data for decision making is 
known as–

Alt1 Common Dollar Accounting 



Alt2 Social Accounting
Alt3 Cost Accounting 
Alt4 Management Accounting

29 The first Stock Exchange in India was established in–
Alt1 Kolkata 
Alt2 Delhi
Alt3 Mumbai 
Alt4 Chennai

30 Grapevine communication is a type of–
Alt1 Formal communication 
Alt2 Informal communication
Alt3 Horizontal communication 
Alt4 Vertical communication

31 Which of the following is not a component of ‘SWOT Analysis’ ?
Alt1 Threats 
Alt2 Strengths
Alt3 Weaknesses 
Alt4 Options

32 What is the theory of social responsibility that focuses on how companies respond to issues, rather than trying 
to determine their ultimate social responsibility, called ?

Alt1 Corporate social performance 
Alt2 Corporate social responsiveness
Alt3 Stewardship principle 
Alt4 Enlightened self-interest

33 The process of evaluating employees is called–
Alt1 Performance appraisal 
Alt2 Recruitment
Alt3 Induction 
Alt4 Job evaluation

34 Which one of the following is not correct?
Alt1 Mutual Fund ensures its participants a professional management of portfolio selection
Alt2 Mutual Fund schemes can be open-ended and/or close ended
Alt3 Balanced Mutual Fund aims at earning current income and capital appreciation
Alt4 Mutual Fund is an investment company and a merchant banker

35 “A body of persons elected or appointed to meet on an organised basis for the discussion and dealing of matters 
brought before it.” It is called–

Alt1 Functional organisation 
Alt2 Formal organisation
Alt3 Committee organisation 
Alt4 Informal organisation



36 Donations received for the special purpose will be taken to the–
Alt1 Income and Expenditure Account 
Alt2 Assets side of the Balance Sheet
Alt3 Liabilities side of the Balance Sheet 
Alt4 Receipts and Payments Account

37 Market segmentation means–
Alt1 Grouping of buyers 
Alt2 Grouping of sellers
Alt3 Grouping of middle men 
Alt4 Grouping of producers

38 Standard costing is a technique of–
Alt1 Planning 
Alt2 Organising
Alt3 Coordination 
Alt4 Control

39 The principle of ‘Unity of Command’ was introduced by–
Alt1 Elton Mayo 
Alt2 Henry Fayol
Alt3 F. W. Taylor 
Alt4 Urwick

40 Motivation - Hygiene Theory was propounded by–
Alt1 Abraham H. Maslow 
Alt2 Fredrick Herzberg
Alt3 Peter F. Druker 
Alt4 Argyris Chris

41 Planning is a–
Alt1 Primary function 
Alt2 Secondary function
Alt3 Supplementary function 
Alt4 None of the above

42 Who is called ‘The Father of Scientific Management’?
Alt1 Elton Mayo 
Alt2 Henry Fayol
Alt3 E. F. L. Breach 
Alt4 F. W. Taylor

43 Garner Vs. Murray rule applies in case of–
Alt1 Admission of a partner 
Alt2 Dissolution of a firm
Alt3 Retirement of a partner 



Alt4 Death of a partner

44 Bonus Shares are issued to–
Alt1 Equity Shareholders 
Alt2 Preference Shareholders
Alt3 Debenture Holders 
Alt4 Secured Creditors

45 In India, which Bank was the first to introduce Bonds with Floating Rates for retail investors ?
Alt1 Bank of Baroda 
Alt2 United Commercial Bank
Alt3 Punjab National Bank 
Alt4 State Bank of India

46 Liberalization means
Alt1 Reducing number of reserved industries from 17 to 8
Alt2 Liberating the industry, trade and economy from unwanted restrictions
Alt3 Opening up of economy to the world by attaining international competitiveness
Alt4 Free determination of interest rates

47 ________  is an economic system based on the principal of free enterprise.
Alt1 Capitalism
Alt2 Socialism
Alt3 Mixed Economy
Alt4 Marxism

48 Which among these is not a method of privatisation?
Alt1 Denationalisation
Alt2 Franchising
Alt3 Sale of Business
Alt4 All of these

49 The pre-liberalisation era of Indian Economy was under the grip of 
Alt1 Unemployment
Alt2 Under-employment
Alt3 Fiscal Deficit
Alt4 Unfavorable and alarming balance of payment

50 The Industrial policy resolution was passed first in 
Alt1 1931
Alt2 1947
Alt3 1956
Alt4 1999

51 All the unique traits and patterns of adjustment of the individual is known as
Alt1 Personality
Alt2 Responsibility



Alt3 Creativity
Alt4 Authority

52 Organizational________ is the systematic process by which an organization brings a new employee into its 
culture.

Alt1 Socialization
Alt2 Development
Alt3 Behavior
Alt4 Structure

53 When a firm’s average revenue is equal to its average cost, it gets ________.
Alt1   Super profit
Alt2   Normal profit
Alt3    Sub normal profit
Alt4  None of the above

54 Given the price, if the cost of production increases because of higher price of raw materials, the supply

Alt1 Decreases
Alt2 Increases
Alt3 Remains same
Alt4 Any of the above

55 The cost recorded in the books of accounts are considered as
Alt1 Total cost
Alt2 Marginal cost
Alt3 Average cost
Alt4 Explicit cost 

56 The brand choice is heavily influenced by reference group in which stage of Product life cycle?
Alt1 Introduction
Alt2 Growth
Alt3 Maturity
Alt4 Decline

57 In marketing mix, which four P's are covered
Alt1 Product, Price, Place, Promotion
Alt2 Product, Price, Penetration Promotion
Alt3 Product, Price
Alt4 Product, Price, Positioning, Promotion

58 Finance Function comprises 
Alt1 Safe custody of funds only
Alt2 Expenditure of funds only
Alt3 Procurement of finance only 
Alt4 Procurement & effective use of funds 



59 The term "capital structure" refers to:
Alt1 long-term debt, preferred stock, and common stock equity.
Alt2 current assets and current liabilities.
Alt3 total assets minus liabilities.
Alt4 shareholders' equity.

60  The kinked demand curve explains
Alt1 Price rigidity
Alt2   Price flexibility
Alt3     Demand rigidity
Alt4    Demand flexibility

61  In the case of an inferior good, the income effect
Alt1  Partially offsets the substitution effect
Alt2      Is equal to the substitution effect
Alt3   Reinforces the substitution effect
Alt4    More than offsets the substitution effect

62  Market with one buyer and one seller is called
Alt1 Monopsony
Alt2  Monopoly
Alt3    Oligopsony
Alt4 Bilateral Monopoly

63 FEMA was formerly known as
Alt1 Foreign Exchange Regulation Act
Alt2  Foreign Exchange Management Act
Alt3  Foreign Exchange Maintenance Act
Alt4  Foreign Exchange Banking Act.

64  ‘Debtors’ is a ________
Alt1 Liability
Alt2   Current liability
Alt3  Current asset
Alt4   Fixed asset

65  The audit committee of a listed company shall meet at least – 
Alt1  3 times in a year
Alt2     4 times in a year
Alt3    5 times in a year
Alt4    6 times in a year

66    The appointment of a statutory auditor under section 224A is with reference to 25% of 
Alt1    Paid-up capital
Alt2     Issued capital
Alt3    Subscribed capital
Alt4 Only equity capital



67   A casual vacancy arising out of resignation of company’s auditor can be filled by
Alt1    Company in general meeting by ordinary resolution
Alt2 Company in general meeting by special resolution
Alt3     Board of Directors
Alt4  Audit committee

68   The portfolio investment by foreign institutional investors is called
Alt1 FDI
Alt2 FII
Alt3 Balance 
Alt4 SDR

69   Theory of comparative advantage was presented by:
Alt1   Adam Smith
Alt2   Ricardo
Alt3   Hicks
Alt4  Arshad

70  What would encourage trade between two countries:
Alt1  Differential tax system
Alt2     Different tax system
Alt3   National currencies
Alt4  Reduced tariffs

71  The term ‘assessment year’ is defined in
Alt1  Section 3(8)
Alt2   Section 3(9)
Alt3   Section 2(8)
Alt4  Section 2 (9)

72  Trade between two countries takes place when:
Alt1  Cost ratios of commodities are equal
Alt2  Cost ratios of commodities are different
Alt3   Cost ratios of commodities are high
Alt4 Cost ratios of commodities are low

73    As per the provisions of the Companies Act 1956, the form of proxy must be deposited with the company at 
least

Alt1   24 hours before the time of AGM
Alt2     36  hours before the time of AGM
Alt3  48 hours before the time of AGM
Alt4  72 hours before the time of AGM

74   Journal is the book of ______entry
Alt1 Good
Alt2   Bad



Alt3    Normal
Alt4   First 

75  Which one of these statistics is unaffected by outliers? 
Alt1 Mean 
Alt2     Interquartile range 
Alt3   Standard deviation 
Alt4   Range 

76  Insurance Regulatory and Development Authority (IRDA), the regulatory body for Indian insurance industry, has 
its head office situated at which city?

Alt1 Bangalore
Alt2 Chennai
Alt3  Hyderabad
Alt4  Mumbai 

77   When was Life Insurance sector nationalised?
Alt1 1834
Alt2 1907
Alt3 1938
Alt4 1956

78   Which among the following is the act of taking on a risk for a fee?
Alt1   Guidewire
Alt2  Initial Public Offering
Alt3     Predictive analytics
Alt4   Underwriting

79  What is 'fiat money'?
Alt1   The currency is backed by Government Guarantee
Alt2 The currency is backed by tangible assets
Alt3  The currency is backed by gold reserves
Alt4 The currency is backed by budgetary support

80  On liquidation of company, the preferential payment in respect of salary or wages is restricted to
Alt1   Rs. 10, 000
Alt2  Rs. 20, 000
Alt3   Rs. 50, 000
Alt4    Rs. 75, 000

81    A list of 5 pulse rates is: 70, 64, 80, 74, 92. What is the median for this list? 
Alt1 74
Alt2 70
Alt3 64
Alt4 80

82  In Vroom's Expectancy theory, Expectancy indicates



Alt1    Advancement
Alt2     Award
Alt3   Accounting 
Alt4    Probability of achieving that outcome

83  Specific and detailed guide to action is called
Alt1    Rule
Alt2 Procedure
Alt3   Policy
Alt4 Strategy

84   Which of the following is associated with CENVAT?
Alt1   Gift Tax
Alt2   Wealth Tax
Alt3    Income Tax
Alt4   Indirect Tax

85   What is the full form of LIBOR?
Alt1     Local Indian Bank Offered Rate
Alt2  London-India Bureau Of Regulations
Alt3   Liberal International Bank Official Ratio
Alt4    London Inter Bank Offered Rate

86   Which of the following defines 'Para Banking' services?
Alt1   Utility services provided by banks 
Alt2   Services provided through business correspondents
Alt3   Services provided to armed forces personnel
Alt4  Eligible financial services rendered by banks 

87  Which is known as the arrangement when more than one banks allow credit facilities to one party in 
cordination with each other?

Alt1  Amortization
Alt2   Consortium
Alt3   Moratorium
Alt4   Subvention

88  Which one of these can be delegated
Alt1  Power
Alt2  Authority
Alt3   Responsibility
Alt4   Accountability

89   Which one of the following factors is not important in organization design? 
Alt1  Information technology 
Alt2   Strategy
Alt3    Environment
Alt4 Relationships



90  A sale of Rs. 50.000 to A was entered as a sale to B. This is an example of _____
Alt1   Error of omission 
Alt2  Error of commission 
Alt3   Compensating error 
Alt4 Error of principle

91  Which one among the following formulates the fiscal policy in India?
Alt1  Planning Commission
Alt2 Finance Commission
Alt3   The Reserve Bank of India
Alt4  Ministry of Finance

92  Queuing theory is associated with 
Alt1    Sales forecasting
Alt2    Inventory control
Alt3     Waiting time
Alt4   Production Control

93 What is Call Money?
Alt1   Money borrowed or lent for a day or overnight
Alt2   Money borrowed for more than one day but up to 3 days
Alt3   Money borrowed for more than one day but up to 7 days
Alt4  Money borrowed for more than one day but up to 14 days

94  Policy of Protection in trade:
Alt1   Facilitates trade
Alt2 Protects foreign producers
Alt3   Protects local producers
Alt4     Protects exporters

95  What are NEFT and RTGS about?
Alt1  Cheque truncation process
Alt2 Electronic fund transfer from bank to bank
Alt3 Electronic payment products within a bank
Alt4 Various deposit products

96 In accounting, cost which is predicted to be incurred or future cost is classified as
Alt1  Calculated cost
Alt2  Incurred cost
Alt3    Actual cost
Alt4  Budgeted cost

97 Practice by seller of offering same product at different prices to different customers is classified as
Alt1  price incurrence
Alt2   price discrimination
Alt3   price targeting



Alt4  price engineering

98  Rate of required return to cover risk of investment in absence of inflation is classified as
Alt1  real rate of return
Alt2  required rate of return
Alt3   nominal rate of return
Alt4  average rate of return

99  In cost accounting, types of inventory do not include
Alt1  direct materials inventory
Alt2  work in process inventory
Alt3  finished goods inventory
Alt4    indirect material inventory

100 Which one of the following is a financial ratio that gives a measure of a company's ability to meet its financial 
losses?

Alt1  Cash Reverse Ratio
Alt2 Leverage Ratio
Alt3  Statutory Liquidity Ratio
Alt4 Loan-to-Value Ratio


